ANNEX-A

Assumption

The number of maximum simultaneous calls is 2.

CW, CH and MPTY are activated.

1) initial call setup

<initial call>

call A: speech or data
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2.1) 2nd additional call setup

<existing call>

call A: speech

<additional call>
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call B: speech or data

a) When call-B is a speech, state-C can be transit to state-D.

b) When call-B is an incoming call, user can return BUSY status.

2.2) 2nd additional call setup

<existing call>

call A: data

<additional call>

call B: speech or data

[image: image3.bmp]
a) When call-B is an incoming call, user can return BUSY status.

3.1) 3rd additional call setup

<existing call>

call A: speech, call B: speech

<additional call>
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a) When call-C is a speech, state-A can be transit to state-B

b) MPTY can start from State-C

c) When call-C is a speech, MPTY can start from State-C and State H.

d) When call-C is an incoming call, user can return BUSY status.

3.2) 3rd additional call setup

<existing call>

call A: speech, call B: data

<additional call>

call C: speech or data
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a) When call-C is a speech, MPTY can start from state-D.

b) When call-C is an incoming call, user can return BUSY status.

3.3) 3rd additional call setup

<existing call>

call A: data, call B: data

<additional call>

call C: speech or data
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a) When call-C is an incoming call, user can return BUSY status.

4.1) 4th additional call setup

<existing call>

call A: speech, call B: speech, call C: speech

<additional call>

call D: speech or data

[image: image7.emf]


a) When call-D is a speech, state-A can be transit to state-B

b) From state-C and state-E, MPTY can start by call-A and call-C.

c) When call-D is a speech, MPTY can start by call-B and call-D from state-C、and MPTY can start by call-A and call-D from state-D.

d) When call-D is an incoming call, user can return BUSY status.

4.2) 4th additional call setup

<existing call>

call A: speech, call B: data, call C: speech

<additional call>

call D: speech or data
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a) When call-D is a speech, state-A can be transit to state-B

b) When call-D is a speech, MPTY can be formed from state-C and state-D.

c) MPTY can start from State-E

d) When call-D is an incoming call, user can return BUSY status.

4.3) 4th additional call setup

<existing call>

call A: speech, call B: speech, call C: data

<additional call>

call D: speech or data
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a) When call-D is a speech, MPTY can be formed from state-B.

b) When call-D is a speech, MPTY can be formed by call-B and call-D.

c) When call-D is an incoming call, user can return BUSY status.

4.4) 4th additional call setup

<existing call>

call A: speech, call B: data, call C: data

<additional call>
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a) When call-D is a speech, MPTY can be formed from state-B.

b) When call-D is an incoming call, user can return BUSY status.

[ Multicall Connection Images ]

(1) Voice + Voice
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Voice + Data
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Ex.) Web browsing / FAX + telephony

(3) Data + Data





Ex.) FTP + Information delivery







PC





Ex.) for bus, train etc. like public phone
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